

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

06/20/2023 07:00 AM | Install - Tentative 06/21/2023 09:00 AM | Install - Tentative 06/22/2023 09:00 AM | Strike - Tentative PO: House of BET Shipping Address: Goya Studios: 1541 N Cahuenga Blvd, Los Angeles, CA 90028

ORDER #003772

Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

Order Date: June 8, 2023 Due Date: Upon Receipt

Description	Qtty	Price		Total
Carpet				
Carpet Cahuenga Lot, 15,500 sf Black Carpet	1	\$30,225.00	Т	\$30,225.0
		Total Ca	rpet	\$30,225.0
Exterior - Entry Experience				
Seamless White Bar, 6ft Entry Experience	2	\$175.00	Т	\$350.0
Stanchion Entry Experience	13	\$17.50	Т	\$227.5
Velvet Rope, Black Entry Experience	12	\$12.50	Т	\$150.0
	Total Exte	erior - Entry Experie	ence	\$727.5
Exterior - Red Carpet - BET (+)				
Red Carpet, 4' x 64' - Binded*	1	\$870.40	Т	\$870.4
Stanchion	11	\$17.50	Т	\$192.5
Velvet Rope, Red	10	\$12.50	Т	\$125.0
	Total Exterio	r - Red Carpet - BE	T (+)	\$1,187.9
Exterior - Bar Area				
Back Bar, 4' w	3	\$175.00	Т	\$525.0
Seamless White Bar, 8ft Seamless - Form 24'	3	\$250.00	Т	\$750.0
	Г	otal Exterior - Bar	Area	\$1,275.0
Exterior - Lounge				
Tent Frame, 20' x 40' x 10'h	1	\$600.00	Т	\$600.0
Velon Wrap Tent Frame, 20' x 40' ^{White}	1	\$400.00	Т	\$400.0
Concrete Base	9	\$75.00	Т	\$675.0
Ceiling Drape, 20' x 40' - With Center Swag ^{White}	ı 1	\$2,200.00	Т	\$2,200.00

Description		Qtty	Price		Total
	Tent Perimeter Drape, 80ft ^{White}	1	\$960.00	Т	\$960.00
	Green Astro Turf, 20' x 40'	1	\$1,000.00	Т	\$1,000.00
	Hedge Panel, 4' X 8' For Privacy To Block Entrance	8	\$150.00	Т	\$1,200.00
	Lucite Bar, Straight 6ft	1	\$175.00	Т	\$175.00
	Lucite Back Bar	1	\$175.00	Т	\$175.00
Ā	Hawaii Cocktail Table, White	4	\$85.00	Т	\$340.00
0	Banquette Sofa, 6ft	10	\$275.00	Т	\$2,750.00
	Coffee Table	6	\$125.00	Т	\$750.00
		Tot	tal Exterior - Lour	nge	\$11,225.00
xterior - Rap (City Studio				
	Custom Plaid Sofa Option, * Per Deck *	1	\$1,550.00	Т	\$1,550.00
		Total Exter	ior - Rap City Stu	dio	\$1,550.00
iterior - Stage	B: Access Granted				
	Black Bar, 6ft To make 12' seamless bar	2	\$175.00	Т	\$350.00
	Back Bar, Black	2	\$175.00	Т	\$350.00
	Wilshire Sofa, Black 8ft	10	\$350.00	Т	\$3,500.00
	Ottoman, Black	40	\$55.00	Т	\$2,200.00
	Vida Coffee Table, Round - Black	10	\$125.00	Т	\$1,250.00
	Stanchion, Chrome Pending Qty	11	\$17.00	Т	\$187.00
		9	\$17.00 \$12.50	Т	\$187.00 \$112.50
	Pending Qty Velvet Rope, Red		\$12.50	Т	
1terior - Stage	Pending Qty Velvet Rope, Red Pending Qty	9	\$12.50	Т	\$112.50
nterior - Stage	Pending Qty Velvet Rope, Red Pending Qty	9	\$12.50	Т	\$112.50
nterior - Stage	Pending Qty Velvet Rope, Red Pending Qty C	9 Total Interior - Stage	\$12.50 e B: Access Gran	T ted	\$112.50 \$7,949.50

Description		Qtty	Price		Total
	Ava Sofa, 8ft - Black	8	\$350.00	Т	\$2,800.00
	Vida Coffee Table, Rectangle - Black Black	8	\$125.00	Т	\$1,000.00
	Double Connected Triangle Stage, 24' Sides	1	\$2,400.00	Т	\$2,400.00
	Carpet Stage, Black	1	\$1,209.00	Т	\$1,209.00
		То	tal Interior - Stag	e C	\$12,909.00
dditions					
	Spandex Linen, 6ft - Black	12	\$28.50	Т	\$342.00
	6ft Bar, Black	1	\$175.00	Т	\$175.00
	Highboy Cocktail Table, 30"	30	\$12.00	Т	\$360.00
	Spandex, Black	20	\$28.50	Т	\$570.00
	Spandex, White	10	\$28.50	Т	\$285.00
	White Bar, 8ft	1	\$250.00	Т	\$250.00
	Back Bar, Black	1	\$175.00	Т	\$175.00
	Pipe and Drape, 63' x 16'h Color: Black. // Stage A	1	\$1,008.00	Т	\$1,008.00
	Pipe and Drape, 42' x 11'h Color: Black // Small Room Stage C	1	\$504.00	Т	\$504.00
	Pipe and Drape, 68' x 20'h Color: Black // Stage C	1	\$1,360.00	Т	\$1,360.00
	Hedge Panel, 4' X 8' Block Dumpsters on Selma Lot // Lounge C Corner	14	\$150.00	Т	\$2,100.00
	Stage, 8' x 12' x 24"h For DJ	1	\$384.00	Т	\$384.00
	Carpet, 12' x 16' For Stage - Color: Black	1	\$374.40	Т	\$374.40
	Double Step, Carpeted	1	\$95.00	Т	\$95.00
	Truss Structure, 12' x 16' x 12'h	1	\$1,240.00	Т	\$1,240.00
	White Spandex Ceiling Cover, 12' x 16' Rush Fee*	1	\$695.00	Т	\$695.00
	Pro Vinyl, Checkered - 216/sf Bodega Flooring	1	\$1,512.00	Т	\$1,512.00
	Pipe and Drape Tent Perimeter, 80ft x 12'h Color: Black Scuba	1	\$960.00	Т	\$960.00
	Ceiling Drape, 20' x 40' Color: Black - For Outdoor Lounge	1	\$2,860.00	Т	\$2,860.00

Description		Qtty	Price		Total
	Banquet Table, 6ft	13	\$12.00	Т	\$156.00
	Black Linen, 6ft	1	\$28.50	Т	\$28.50
	Chrome Stanchion	24	\$17.50	Т	\$420.00
	Velvet Rope, Black	23	\$12.50	Т	\$287.50
			Total Additio	ons	\$16,141.40
Additions					
	Velon Wrap Tent Poles Wrap Tent Poles Black to match with change in drape	1	\$150.00	Т	\$150.00
	Pipe and Drape, 30ft To Cover Rap Studio Wall	1	\$360.00	Т	\$360.00
	Chandelier For Lounge Tent	1	\$450.00	Т	\$450.00
	Dimmer	1	\$0.00	Т	\$0.00
	Blue Carpet, 4' x 44' For AMEX SnR	1	\$668.80	Т	\$668.80
	Chanelled Arm Chair, Black For Screening	7	\$150.00	Т	\$1,050.00
	Lucite Bar, Curved 6ft All Black **	3	\$175.00	Т	\$525.00
			Total Additio	ons	\$3,203.80
Services					
	Tent: Labor and Delivery	1	\$600.00		\$600.00
	Trucking Fee	6	\$375.00		\$2,250.00
	Trucking Fee - Van (Additions)	3	\$75.00		\$225.00
	Trucking (Additions Friday)	1	\$175.00		\$175.00
	Install Fee (Day 1)	12	\$420.00		\$5,040.00
	Install Fee (Day 2)	8	\$420.00		\$3,360.00
	Install Fee (Day 3)	2	\$240.00		\$480.00
	Drop Off Fee (Day 4)	2	\$90.00		\$180.00
	Install Fee (Day 6)	2	\$90.00		\$180.00
	Strike Fee (Saturday Night)	6	\$120.00		\$720.00
	Strike Fee (Final Day)	10	\$420.00		\$4,200.00
	1.5% WC Fee	1	\$1,662.84		\$1,662.84

Total Products:	\$86,394.10
Total Labor/Services/Misc:	\$19,072.84
Taxes :	\$8,207.44
Discounts:	(\$0.00)
Total:	\$113,674.38
Payments:	(\$108,791.38)
Balance:	\$4,883.00